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Please make sure that the printed pages in this question paper are 5 in number and it
contains 30 questions.

o HUIT YT &I IR AWl Y& S 4 Ugd, U &I SIS Jay ford |
Before beginning to answer a question, its Serial Number must be written.

o IW—YRAPT & g # @rell =1 9 BIS |

Don’t leave blank page/pages in your answer-book.

o IR—YRDT & AfaRaa »Is 3= M & el | s smagasargar € fad sk foen

IR 7T BIC |
Except answer-book, no extra sheet will be given. Write to the point and do not strike the written
answer.

o udEredl 3uAT Jiel [o UTH—UF WR Iawd fad | | F0 & AfARET yTH-—uA R I §o

T ford 3R dofeus gl @ Sa”l W ST yerR &1 frem 7 «my |
Candidate must write their Roll No. on the question paper. Except Roll No. do not write anything on
question paper and don’t make any mark on answer of objective type questions.

o HUYT YTl & Iax o< 4 yd Ig Yil¥ad o= o (& yz—ux gof g wdl 2, udan suwra

3 gv d &I H qa1 ©er T2 fear S|

Before answering the questions, ensure that you have been supplied the correct and complete question paper, no

claim in this regard, will be entertained after examination

Instructions(fA&2): -
1. All questions are compulsory.(@fosr3ifaardg| )

2. Question no 1 to3are long answer type questions each questionsfive marks.
(T 3, TcABTAITT A PT &)
3. Question no 4 to 9 are short answer type question,each questionsthree marks.
(U574 T 9, U APUSPITAaE)
4. Question no 10 to 15 are very short answer type question carrying two marks.
(THL0T15, UcAPUHPE TR e)
5. Question no. 16 to 30 are MCQ/ true/false/ Fill in the Blank type’s questions carrying one marks

each. (TAT16330, e UhTHhUdhAai )




[ @vs—3i]
[Section-A]

Long Answer Types of Questions 3 x5 =15 Marks

Q.1. Explain functions of good braking system37ees sifcher e & wat & carear Hifew|

OR
Write about Mechanical , Hydraulic and Air Brake

Hehfelehel, EIsgIfered 3N TAX sleh & T & Tord]|

Q. 2 What is Direct and indirect measuring instruments ?

el AR AUcTeT AR I T 82

OR

What are angular measuring instruments? @IofiF JATUT 3UAIOT T §7?

Q.3 What is Bolt.Write about type of Bolt.dlee & &l diec & UdR fof@u|

OR

What is Nut.Write about type of Nuts. ¢ FT &. d¢ & bR foIf&u|

[ wvs—a]
[Section-B]

Short Answer Types Questions 6 X 3 = 18 Marks

Q.4. How to Repair Punctured tube?UeFar ¢gd &I FFAT HH PHL?

Q.5 . Write qualities of a entrepreneur?teh 3T & IoT fof@w?

or

How to Tunnup engine cooling system? i Gfeidl fAECH &l TYAIT HH H?

Q.6. Explain any three types of welding.dfesar & fohegl did UBRT &I HASABT|

Q.7.  Write the steps of washing or cleanthe engine?. 3icT &l 4l IT TTH A & TROT [T U]
Or

Explain the steps for changing gear oil? BT 31/l dcolal & UM T ATEIT H?

Q.8. How to adjust wheel play? &&el Tel Pl Hhd TeoRe Hi?



Q.9. What are advantages of tubeless tyres ?Cgdeld TRR & FIT HBIACG &2
or
What is ICT? 3TSHIET FaT &2
[ @vs—d]
[Section-C]

Very Short Answer Types Questions 6 X 2 =12 Marks

Q.10.Howto determine the centre of circle.gd & gl fAURTT Ha H|
Q.11. Howto bisect a given segment of line.fcT 317 Y@r @s & & AT HLar |

Q.12. What is casting .@I{EcaT FIT §?

Or

Write about thetuning ofengine ignition system.
goldd 3T fRvea & cgfda & e # faf@u
Q.13. Explain setting of various parts of gear box.T—R dfed & AR WM FHr AT AU

Q.14.What are the benefits of networking ?acafchel & FIT B &7

Q.15. What is the aim of Green India Mission ?3{/ 33T TR &1 327 &1 £20r

write the main components of water cooling system.

STeT el UuTell & AT T &l fofau]

[ @ve—<]
[Section-D]

Objective Types Questions 15x 1 = 15 Marks
Q.16. A polygon is a plane figure is ........... more than bounded by the sides.

T TgIST Th TAASA 3Ppid & S ........... 3 o3t & forT g3m &

A)4B)5 (C)3 (D)6
Q.17. A heptagon is plane figure bounded by .......... sides.

TS Uh TATS HHIT & S ..o, a3t & oy wreh ¥

(A6 B)7 (©)8 (D)9



Q.18. Brass is important alloy of @de ......... &1 HAgcayqol Ay arg B

A) Copper diel (B)Aluminum3eg# i faa#(c)Gold HT (d) None 1S &1

Q.19. Which of the following are not measuring device?

a) Steel rule (b) Telescopic gauge (c) Wheel wrench (d) None of these
fAefei@d # ¥ @i AU I7 T8 &2
(A) TETTA (B) ThEhIUe AT (CET T (DIAH A IS Fdl

Q.20. Which colour indicates that there are chances of coolant leakage .
A)Green (B) Blue (c) Yellow (d) NONE

BT a1 W1 Mderd & A H UG B SATaT &
A) &1 (B) #tell  (c) el (d) &S &

Q.21. Free play of clutch leaver should be in two wheeler .
a) 8-10mm (b) 10-12mm (c) 14-14 mm  (d) None
¢ RN H Fold ol &1 B Tl ..o, gl anfeu|
A) 8-10mm (b) 10-12 mm (c) 14-14 mm  (d) None
Q.22. Propeller shaft is connected between gear box and -----------------

WOeR e fIRR aferd 3R .o, & I T Bdr B

Q.23. In motorcycles lubricating oil should be change after ..................

FreaTSTRee & AR HGS ... % a1 aaoET IR

Q.24. In car lubricant oil should be changed after.............ccccceuennen.
HR H JfIhe HTT Bl eevveeeerrnneennnn & dIG Gl T
Q.25. Which is not type of brake.
Q.26 What is the purpose of communication?TdR &7 32T FIAT &7?
Q.27. Which short keys you use to copy something?
forelt s 1 Sl X & forw 3mT R Aic & F 3TIRT WA 2
Q. 28. mp3 is extension of video . (True / False)

mp3 dIf3aT &1 TFEeR § e / 38T

Q. 29. Sender is not an element of communication. (True / False)
YesY IR &1 T ded 8 & (T / 3ET)
Q. 30. What does an upright (straight) body posture convey or show?

(@) Shyness  (b) Fear(c) Confidence(d) Intelligence

T el () iR AT R g A1 uefdd T §?
(R (BB (L MTeafaraTa (BRgFaT





